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Vi) deAdGeley & SUANT Bl AT Bl T |

(i) There are in all 27 questions in this question paper. All questions are
compulsory.

(ii) There are 8 parts in Question No 1. Each part is a Multiple Choice
Question. Four answers are given in each part. Write the correct option in
your answer book.The question asked in each part carries one mark.

(iii) Question No 2 to 9 carry one mark each. Question No. 10 to 16 carry
two marks each. Question No. 17 to 21 carry four marks each and
Question No. 22 to 27 carry five marks each.

(iv)There is no overall choice in Question paper. However an internal
choice has been provided in two questions of 2 marks, two questions of
4 marks and three questions of 5 marks questions. You have to attempt
only one of the given choices in such questions.

(v) In questions on construction, drawing should be neat and exactly as
per the given measurement.

(vi) Use of calculator is not permitted.
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1(i) =1 5 & @19 91 U uiRag A& o— 1
Which of the following is a rational number-

(a) v3

(b) v4

(c)

(d) 2+ V5
(i) AR 2ot 4,10,16,22........FT SWTAT U BRI 1
The next term of Arithmetic Progression 4, 10, 16, 22,..........will be-

(a) 26

(b) 28

(c) 30

(d) 32

(iii) afe 9guc 2x%+x+k T TRTH 3 & O K &1 A9 81— 1
If zero of polynomial 2x?+x+k is 3 then value of k will be-

(a) 12

(b) 21

(c) 24

(d) -21
(iv) fgard BT X2-9 & Ho BRI— 1

Roots of quadratic equation x2-9 will be-
(a)3,-3

(b)9, -9

(c)o,0

(d)2,-2
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(v)Uﬁ(SinA=§?ﬁtanA?ﬂHﬂ%ﬁT- 1
If Sin A= 34 then the value of tan A will be-
4
(a) 7
4
(b) 2
3
(c) 7
V7
(d)
(vi) f&=5 (6, -4) T X- 31eT & 0 BFf— 1
The distance of point (6, -4) from X- axis will be-
(a) 6
(b) -4
(c) -6
(d) 4
(Vi) & 9 3 ) v feRft g @) uiiRiedr J8 8 ddhat © P 1
Which of the following can not be the probability of an event?
2
(a) 5
(b) -1.5
(c) 15%
(d) 0.7

(viii) T fog Q ¥ Td g IR WY NGl B FHIg 24 cm T2 Q B s |
0 25cm © | g Bl Brear g 1
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From a point Q the length of tangent to a circle is 24 cm and the
distance of Q from the centre is 25 cm. The radius of the circle is-

(a) 7cm

(b) 12 cm

(c) 15cm

(d) 24.5 cm

2. |7 200 DI 2".5™ & wY H FId HIY | 1
Represent number 200 in the form 2".5™

3. fgard FHIeR0 &1 Ad WY fIlEy | 1
Write down standard form of quadratic equation.

4. Th JFATGR I BT JGURATT 36 Hex & | Ife 39 a1 Bl TS SAD!
AISTS I 4 WX Afdd 8 a1 9T &) fag s By | 1

Half of the perimeter of a rectangular garden is 36 m . If Length of
the garden is 4 m more than its width then find the dimensions of
garden.

5. fa=gaii (0,0) T2 (36,15) & 9/ @1 g Md dIfSIY | 1
Find the distance between the points (0,0) and (36,15).

6. 31 AARY RSl @1 Yo 4:9 & Ui | © | 59 Sl & e hal b
U T BT 7 1

Sides of two similar triangles are in the ratio 4:9. What will be ratio of
areas of these triangles ?

7. 0% el & ATH 14 FH | 390 Ih U BT &9%d A1d DY | 1

The diameter of a sphere is 14 cm. Calculate its curved surface area.

8. afe 1,2,x,3dAM4 &I AT 2 & A X BT A9 SMd HIOY | 1

If 2 is the mean of 1, 2, x, 3 and 4 then calculate the value of x.
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9.U®H U &l U dR Bl OIdl & | U A AT T 89 &1 UIdhdl ST
5f§|31Q | 1

A dice is thrown once . Calculate the probability of getting even
number.

10. f¥am T § HCF(306, 657)=9 , sTd #1f31T LCM (306, 657) | 2
Given that HCF(306, 657)=9, Find LCM (306, 657) .

11. s fgard 9gus =rd difoy, RS Il &1 AN TAT UM% HA: —3
AR 2T | 2

Find a quadratic polynomial the sum and product of whose zeros are
-3 and 2 respectively.

arergar (OR)
feeamd FHIBRUT 6x2-x-2=0 & Ho T BT | 2

Find the roots of the quadratic equation 6x%-x-2=0.

12. AfS tan 2A=cot(A-18°) ST&F 2A UH ~JABGI & Al A &T A1 S HIIY | 2

If tan 2A=cot(A-189), where 2A is an acute angle. Find the value of A.
arergr (OR)

A ST BHITY

Sin%263%+5sin2279
Evaluate: —————
Cos<17+Cos#73

13. 39 st &1 3% 91d difore foae Ny (1,-1), (-4,6) T2 (-3,-5) £ |
2

Find the area of a triangle whose vertices are (1,-1), (-4,6) and (-3,-5).
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14.<) T sepfer . OA.OB=0C.OD 5
In the given Figure OA.0B=0C.OD ¢
Tuisy 6 LA = £C @21 4B = 4D o

Show that A = 2C and 4B = «D

15. @= O 91e] ga & 918d fog T 9 &1 T Y@ TP der TQ Eiei 18 2 |
Rig @Ifott f&b 2PTQ=220PQ 2

Two tangents TP and TQ are drawn to a circle with centre O from an
external point T. Prove that £PTQ=220PQ

16.99far 3R Bder o O & | 39a w7 Uiiiedr € fb g1 &1 Sfed s
& 8 ? (hy af & Bred ) 2

Savita and Hamida are two friends what is the probability that both
will have the same birthday? (Excluding leap year)

17. R 9_1 & det 2 99¢ | 20 f&H R |l © IR aRT & URadha 2
gue # 4 fEd &R ohdl 8 | S9d! ReR T § -4 &1 ool d2m gRT BT T

ST BITY | 4

Ritu can row downstream 20km in 2 hours and upstream 4 km in 2
hours. Find her speed of rowing in still water and speed of current.

arergr (OR)
Al T H&AITG S g [T IRt 27 &1 SR [UHE%d 182 B | 4
Find two numbers whose sum is 27 and product is 182.

18. Ife fodl Far=aR AN & UUH 14 USH BT AT 1050 & AT Y2H U< 10 ©
I 2091 UG ST BT | 4

If the sum of first 14 terms of an AP is 1050 and its first term is 10
then find its 20 th term.
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19. RIg PIoTu— 4

Prove that-

Sinf — cosf + 1 _ 1
Sin® + cos® —1  Sech — tand

20. f=g(-4,6), fa=gaii A (-6,10) 3R B(-3,8) &I Sirs+ dlel WIRIUS &l
forsg argurd # fawrfora @var &7 4

In what ratio does the point (-4,6) divide the line segment joining
the points A(-6,10) and B(-3,8)?

arergr (OR)

afe fa=g A(6,1), B(8,2), C(9,4) 3R D(p,3) To AR agdsl & Y g4I
HH H B dl P BT A ST PN |

If the points A(6,1), B(8,2), C(9,4) and D(p,3) are the vertices of
parallelogram taken in order, find the value of p.

21. TP JATHR WA WR B0 24 Ui HIeR T &R I q1$ T BT I B0 5280
g | 39 Wd Bl B0 050 U & Hex @l R W A 8 o1 & | WA DI
TS BRI BT I S BN | (== <ifdre) 4

The cost of fencing a circular field at the rate of Rs 24 per meter is Rs.
5280. The field is to be ploughed at the rate of Rs. 0.50 per m?. Find
the cost of ploughing the field. (Take ===")

22.a‘rﬁ$wwwuw@maﬁ9§aﬁﬁww IS I drell o

BT Bl YR H HF AN 9Tl o] F 10 TS HF 97 oidl & | UAd o1 gNT
I I BIS Dl YR H T FHT S BT | 5

Two water taps together can fill a tank in 9% hours. The tap of the

larger diameter takes 10 hours less than the smaller one to fill the
tank separately. Find the time in which each tap can separately fill
the tank.
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23. U FUdd SHIF TR Wl 99K &1 811 99 Rfa d 40 frex =) 8 9l
g oafdh qF B IO 60° H TEH? 30° B WG & | WHAR B SAS TN
PITY | 5

The shadow of a tower standing on ground level is found to be 40m
longer when sun’s altitude is 30° than when it is 60°. Find the height
of the tower.

arerar (OR)

U qgATAT 99 & RRIR ¥ <@ WR U 8 HIek $d 9ad & RRER 3R e
@& 3faTH BIor HHe: 3003k 4508 | qgHISTeN WaT @l Sers AR &I Al b
9 DI QA AT DINY | 5

The angle of depression of top and the bottom of 8 meter tall building
from the top of a multistoried building are 30°%nd 45°espectively.
Find the height of multistoried building and distance between two
buildings.

24. BL3R CM & F9&10T st ABC @1 ATfegaTd € G 39 B &1 &I
A I 7 | Rig sy f 4(BL2+CM?)=5BC? 5

BL and CM are medians of a triangle ABC right angled at A. Prove that
4(BL2+CM?)=5BC?

arergar (OR)
HIA MR H Y@rgre XY st ABCH 4o AC & HATR © TA1 39 B
DI T SRIGR Bl arel & 9HI H f39IioTa el © Ieﬁﬂﬁj—zglﬁaﬂﬁm | 5

In adjacent figure the line segment XY is parallel to side AC of AABC

and it divides the triangle into two parts of equal area. Find the ratio
AX
AB' A
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25. 4 I 3501 & Th 9d WR 6 9 B9 & Th Aoy ga @ fedl i
d Th W3 ¥GT Pl AT PV IR ST TS AT | URBboT I 59 Y
BT g 9T BT | 5

Construct a tangent to a circle of radius 4cm from a point on
concentric circle of radius 6cm and measure its length. Also verify the

measurement by actual calculation.

26. Ud RIc=T T 3.5 I dTel Ush U & IATHR Bl & ol Al AT &

TEh MG IR FRING 2 | 39 Radq & awyef a1 155 A & | g9
Ract= &1 FFuT U eAwel ST BT | 5

A toy is in the form of a cone of radius 3.5 cm mounted on a
hemisphere of same radius. The total height of toy is 15.5 cm. Find the

total surface area of toy.

arergar (OR)

Tdh 3N TS @ el R G Uh I & AMBR & © il By 1 J9 € den

Y DI SHATE THD BT S RIGR ¥ 39 I BT AAF 1T D UG H F0q DI |

5

A solid is in the shape of a cone standing on a hemisphere with both
their radii being equal to 1 cm and the height of the cone is equal to

its radius. Find the volume of the solid in terms of .

Downloaded from cclchapter.com



27. f=fafRad erfds! &1 A1edd 525 © | Ife IRERARN &1 AT 100 © @ X 3R
Y &1 A I DIy | 5

The median of the following data is 525. Find the value of x and vy if

the total frequency is 100.

I 3TRTe IRERTT
(Class Interval) (Frequency)
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 Y
700-800 9
800-900 7
900-1000 4
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